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Math 221: Test 3 - 6/23/15

Do all work on the test below. You must show all work to receive full credit.

1. Represent {2 X *4}: 8 using the chip/charged field model. [7 Points]

Represent the problem 1 — =3 = 4 on the number line. [7 Points]
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Fill in the blank with <, >, or =. Show your methods used to compute these, but you do not need
to give a lengthy justification. Use different methods for (a) and (b). [5 Points Each]
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Use the specified method to perform the following operations, Write your answers in simplest form
and in the same form as the numbers in the problem. [8 Points Each]
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Write how to read the decimal 2.015 in words. [5 Points]
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6.  For each of the following fractions, determine if it can be written as a terminating decimal. If so, do
so by getting a power of 10 in the denominator. If not, use long division and find the repeat. [8 Points
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7. Use the standard algorithm to calculate 10.13 x 1.8. [5 Points]
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8. In the problem above, explain why your decimal place is in the correct position. [5 Points]
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9. Use Long Division to calculate 2315 + 1.7, Round to the nearest hundredth if necessary. [8 Points]
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The foliowing bonus questions should not be attempted until you have solved every other question and
checked your answers. Please see me if you need an additional sheet of paper to do the bonus.

Bonus 1: Prove the following theorem: % - 2 == a.dz;; e

Bonus 2: Write 0.342 as a fraction in simplest form. [5 Points]
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